

PURCHASE ORDER

Graphic Design, Inc.
 315 Second Street East
 Hastings, MN 55033
 Phone: 651-437-6459
 Fax: 651-480-5009

Issue Date: 01/02/2026
 PO #: 48886

VENDOR The Bindery, Inc.
 8201 Brooklyn Blvd #1500
 dock doors 31-36
 Brooklyn Park, MN 55445
 P:(763)201-2800 F:(763)201-2790
 Mike Cress

SHIP TO Please email Tom Kranz at
 tkranz@gd-inc.com to schedule
 pickup/delivery

Shipping Method	Terms	Ordered By	Delivery Date
Will Call	Net 30	Rob Gormanson	01/09/2026

Item #	Description	Quantity	Balance	Unit \$	Total	Job #
	LTC Abridged Book - English, 68-pages plus F&B covers	746.00	746.00	0.880 Each	\$656.48	271094 890
	5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil					
	Quote # 79635 priced to run all 10 LTC books at same time 09/29/2025					
	Up to 15 overs allowed on invoice - English	15.00	15.00	0.880 Each	\$13.20	271094 890
	LTC Abridged Book - Spanish, 68-pages plus F&B covers	417.00	417.00	0.880 Each	\$366.96	271101 890
	5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil					
	Up to 8 overs allowed on invoice - Spanish	8.00	8.00	0.880 Each	\$7.04	271101 890
	—					

Item #	Description	Quantity	Balance	Unit \$	Total	Job #
	LTC Abridged Book - Somali, 68-pages plus F&B covers 5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil	62.00	62.00	0.880 Each	\$54.56	271100 890
	Up to 2 overs allowed on invoice - Somali	2.00	2.00	0.880 Each	\$1.76	271100 890
	LTC Abridged Book - Hmong, 68-pages plus F&B covers 5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil	19.00	19.00	0.880 Each	\$16.72	271096 890
	Up to 1 over allowed on invoice - Hmong	1.00	1.00	0.880 Each	\$0.88	271096 890
	LTC Abridged Book - Vietnamese,, 68-pages plus F&B covers 5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil	11.00	11.00	0.880 Each	\$9.68	271102 890
	Up to 1 oves allowed on invoice - Vietnamese	1.00	1.00	0.880 Each	\$0.88	271102 890
	LTC Abridged Book - Oromo, 68-pages plus F&B covers 5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil	11.00	11.00	0.880 Each	\$9.68	271098 890

Item #	Description	Quantity	Balance	Unit \$	Total	Job #
	Up to 1 overs allowed on invoice - Oromo	1.00	1.00	0.880 Each	\$0.88	271098 890
	— LTC Abridged Book - Karen, 68-pages plus F&B covers	11.00	11.00	0.880 Each	\$9.68	271097 890
	5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil					
	— Up to 1 over allowed on invoice - Karen	1.00	1.00	0.880 Each	\$0.88	271097 890
	— LTC Abridged Book - French, 68-pages plus F&B covers	10.00	10.00	0.880 Each	\$8.80	271095 890
	5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil					
	— Up to 1 over allowed on invoice - French	1.00	1.00	0.880 Each	\$0.88	271095 890
	— LTC Abridged Book - Russian, 68-pages plus F&B covers	10.00	10.00	0.880 Each	\$8.80	271099 890
	5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil					
	— Up to 1 over allowed on invoice - Russian	1.00	1.00	0.880 Each	\$0.88	271099 890
	— LTC Abridged Book - Amharic, 68-pages plus F&B covers	9.00	9.00	0.880 Each	\$7.92	271093 890
	5.83 x 8.27 precollated book blocks with covers on covers on 10pt C2S insides on 100lb satin text bind along left edge (8.27") use white plastic coil					
	—					

Item #	Description	Quantity	Balance	Unit \$	Total	Job #
	Up to 1 over allowed on invoice - Amharic	1.00	1.00	0.880 Each	\$0.88	271093 890
	—					
				Total:	\$1,177.44	